
Included in Kit: 

2     - Hex Head Bolts (3/8”-16 x 1 1/2")

2     - Regular Length Extruded U-Nuts (3/8”-16)	

2     - Extra Long Extruded U-nut (3/8”-16)	

2     - Hex Head Bolts (3/8”-16 x 1 1/2")	

2     - Fender Washers (3/8”)

4   - Stainless Carriage Bolt (3/8”-16 x 1")	

             6     - SAE Flat Washers (3/8”)	

4     - Nylon Lock Nut  (3/8”-16)

2     - Black Button Head Bolts (1/2”-13 x 1 1/2") 

          2     - Black Oxide SAE Flat Washers (1/2")

2     - Black Oxide Nylon Lock Nut (1/2"-13)


